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insert(int k){ //załóżmy, że trzymamy w drzewie tylko klucze, bez 
dodatkowych danych
    Node *ptr=root;
    Node*prev=NULL);
    while(ptr!=NULL){
          prev=ptr;
          if(ptr->key==k) //element k już jest w drzewie
                return;
          if(ptr->key> k) ptr=ptr->left;
          if(ptr->key<k) ptr=ptr->right;
    }
    //wskaźnik prev wskazuje gdzie umieścić nowy rekord.
   Node *ptr2=new Node;
   ptr2->key=k;
   ptr2->lef=ptr2->right=NULL;
   if(prev==NULL) root=ptr2;
   else{ 
           if(prev->key<k) prev->right=ptr2; 
          else prev->left=ptr2; 
   }
}
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return;
if((*r)==NULL)

_delete_key(&((*r)->right),k);
if((*r)->key<k)

_delete_key(&((*r)->left),k);
if((*r)->key>k)

//teraz: *r!=NULL && (*r)->key==k

Node *tmp=(*r)->right;
delete(*r);
*r=tmp;
return;

if((*r)->left==NULL){

}

Node *tmp=(*r)->left;
delete(*r);
*r=tmp;
return;

if((*r)->right==NULL){

}
Node **tmp=&((*r)->left);

tmp=&((*tmp)->right);
while((*tmp)->right!=NULL)

(*r)->key=(*tmp)->key;
_delete_key(tmp,(*tmp)->key);

void _delete_key(Node ** r, int k){

}

void delete_key(int k){
   _delete_key(&root,k);
}
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